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out.data = f(48,36,length,in);
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G_set("rand_notes",func(seed,n,length,in) {
  v = setsize([],n);
  math.seed(seed);
  forindex(i;v) {
    t = i/n*length;
    note = int(math.rand2(40,in.B(t)));
    amp = 0.2+in.A(t)*0.6;
    dur = math.rand2(length*0.3,length);
    env = math.rand()>0.5?[dur*0.7,dur*0.3]:[dur/2,dur/2];
    ev = [1,dur,note,amp*0.5] ~ env ~ [0];
    v[i] = [t,ev];
  }
  v;
});
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G_set("rand_notes",func(seed,n,length,in) {
  v = setsize([],n);
  math.seed(seed);
  forindex(i;v) {
    t = i/n*length;
    note = int(math.rand2(40,in.B(t)));
    amp = 0.2+in.A(t)*0.6;
    dur = math.rand2(length*0.3,length);
    env = math.rand()>0.5?[dur*0.7,dur*0.3]:[dur/2,dur/2];
    ev = [1,dur,note,amp*0.5] ~ env ~ [0];
    v[i] = [t,ev];
  }
  v;
});
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G_set("rand_notes",func(seed,n,length,in) {
  v = setsize([],n);
  math.seed(seed);
  forindex(i;v) {
    t = i/n*length;
    note = int(math.rand2(40,in.B(t)));
    amp = 0.2+in.A(t)*0.6;
    dur = math.rand2(length*0.3,length);
    env = math.rand()>0.5?[dur*0.7,dur*0.3]:[dur/2,dur/2];
    ev = [1,dur,note,amp*0.5] ~ env ~ [0];
    v[i] = [t,ev];
  }
  v;
});
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G_set("rand_notes",func(seed,n,length,in) {
  v = setsize([],n);
  math.seed(seed);
  forindex(i;v) {
    t = i/n*length;
    note = int(math.rand2(40,in.B(t)));
    amp = 0.2+in.A(t)*0.6;
    dur = math.rand2(length*0.3,length);
    env = math.rand()>0.5?[dur*0.7,dur*0.3]:[dur/2,dur/2];
    ev = [1,dur,note,amp*0.5] ~ env ~ [0];
    v[i] = [t,ev];
  }
  v;
});
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G_set("rand_notes",func(seed,n,length,in) {
  v = setsize([],n);
  math.seed(seed);
  forindex(i;v) {
    t = i/n*length;
    note = int(math.rand2(40,in.B(t)));
    amp = 0.2+in.A(t)*0.6;
    dur = math.rand2(length*0.3,length);
    env = math.rand()>0.5?[dur*0.7,dur*0.3]:[dur/2,dur/2];
    ev = [1,dur,note,amp*0.5] ~ env ~ [0];
    v[i] = [t,ev];
  }
  v;
});
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G_set("rand_notes",func(seed,n,length,in) {
  v = setsize([],n);
  math.seed(seed);
  forindex(i;v) {
    t = i/n*length;
    note = int(math.rand2(40,in.B(t)));
    amp = 0.2+in.A(t)*0.6;
    dur = math.rand2(length*0.3,length);
    env = math.rand()>0.5?[dur*0.7,dur*0.3]:[dur/2,dur/2];
    ev = [1,dur,note,amp*0.5] ~ env ~ [0];
    v[i] = [t,ev];
  }
  v;
});
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